BN LEZEIJI VR GM—2400—GE  s=1:30
(BM5 7ERENBERLEL - AETRICEDCEAEN GL+0m (21k3)
2000 , 2000 x8 | =
’.m:é:*ﬁ £=3.0 \ Hlﬁll%% t=2.3 ‘ ¢
2-ch RSt - |
t=0.8 3 |
JAaY hnN— JAay hAN—
= g t=2.3
| (Im=F) /W | (R A) %
‘ \ﬁﬁ%iﬁtﬂ < |
S |
it g |
PERSP LA t=15 3
GL+0m Ly
ii C0100x50x3.2  [1100x50x3. 2 ﬂ . 5
| - R
% IS @éﬂ T E@éﬂ
1550

ERET MY )
RETHIE - - - BBAMS 7ENEDEEREERL - BAETHICEICRAEAIZKS,
HEEHS - - - RYFAMAHD 98 kN/mM (10t./m)
&E
1. Sz DVT
- EH. RE
;;zé;b—h BT RTRVIVLEEDHEDL
gtin SHE A IR M A R
i +
JAay hAN—
FEER TILIEEEER
7 1917 S S S CAREMRO - T LIFFEERLE

2. [RREBIEM I TIREICRBIE Y F1TET D,

INTLEUYTE $=1:6

FHEA
M8% v T

e

&M

28 FAN- 7<ABT M8 x 25 (KXW, SW{t)

2000 2000

ARBN M8 x 30 (W)
[Fv FEUF v K]

e

7<ABT M8 x 25 (KW, SWAT)

0y khN—

FARBN M8 x 30 (W)
[Fv FEUF v K]

g R Fl B LE 44
t=3

FNEBT M8 x 25 (KW, SWAt)

7NEBT M8 x 25 (KW, SWit)

FAEBN M8 x 30 (W{)

g J 5y bEUF o+
i

N s
‘; RRA S Lk 41

t=15

2=l el

HWZLETL—

fA#% t=2.3

A EBN M8 x 70 (W{)

B
=3 P

R FE B L4
t=15

[Fv rFUF Y K]

FIRBN M8 x 70 (W4+)
[y FEFUF v K]

FAARBN M8 x 70 (W)
[Fv bEUF v H]

22230

0907

2024. 03




